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Total C-flux from all mortality is equal
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Total canopy mortality is the same

Canopy mortality (control)
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Total canopy mortality is the same

Canopy mortality (control)
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A Canopy mortality (test5 - control)
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Total understory mortality is the same

Ustory mortality (control)
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Total understory mortality is the same

Ustory mortality (control)
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Termination mortality higher in control case

Termination mortality (control)
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Termination mortality higher in control case

Termination mortality (control)
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C-starve mortality is greater in test case

C-starve mortality (control)
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C-starve mortality is greater in test case

C-starve mortality (control)
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Differences in termination mortality and C-starve mortality
are equal magnitude and opposite signs

A Termination mortality (control - test5)
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Differences in termination mortality and C-starve mortality
are equal magnitude and opposite signs
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